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1) Solve the initial value problem.
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2) A2 kg mass is attached to a horizontal spring with spring constant 20 N/m. The damping
constant is 4 kg/s. Let x(t) denote the position of the mass (in meters) after t seconds. (Here x =
0 m corresponds to the equilibrium position of the spring.) Suppose at time t = 0 the position of
the mass is 0 and the velocity is 6 m/s. Find the position of the mass at time t = /6 s.
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3a) Find a basis, 5, of eigenvectors for the matrix A.
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4) Find the general solution to the differential equation.
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